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• ke = âhe Ùee  pe eBÛe  k eâ j  ue W efke â F me  Øe Mve -he $e  ce W c e ge fõle  he =‰ 15 leL e e            
Øe Mve  19 nQ~ 
Please make sure that the printed pages in this 

question paper are 15 in number and it contains 

19 questions. 
• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s keâes[ vecyej le L e e mesš ke âe s Úe$e  

Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙ e 

e fue Ke W~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : A 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 

Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 

Candidates must write their Roll Number on the 

question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

veesš :  (i) meYeer ØeMveeW kesâ Gòej oerefpeS~  
  All questions are compulsory. 

  (ii) ØeMve  mebKÙe e 1 ceW 1-1 De b keâeW kesâ meesuen (i-xvi) Jemle gefve ‰                

heÇkeâe j kesâ ØeMve nQ~ Fve kesâ Gòe j mener efJe keâuhe  Ûegvekeâj/Skeâ Ù ee oes 

J e e ke äÙe eW ce W /efjkeäle-mLeeveeW ke â er he te fle & k e â j ke s â/melÙe Ùe e                  

DemelÙe ce b s oe re fpe S ~  
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  Question No. 1 consists of sixteen (i-xvi) 

objective type questions, each of 1 mark. 

These answer should be given by choosing 

the correct options/in one or two 

sentences/Fill in the blanks/in True or 

False. 

 (iii) ØeMve  mebKÙee  2 me s 11 le k e â  kes â  Øe Mv e  2 De b ke â eW ke s â nQ~                
Ø e lÙe ske â  Øe Mv e  keâ e  Gòe j  ue ie Ye ie  25 me s 50 Me yoe W c eb s                 
oe re fpe S ~ 

  Question Nos. 2 to 11 are of 2 marks each. 

Answer each in about 25 to 50 words. 

 (iv) ØeMve  mebKÙee  12 me s 16 le k e â ke s â  Øe Mve 4 Deb ke âe W ke s â  nQ~             
Ø e lÙe ske â  Øe Mve  k e âe  G òe j  ue ie Ye ie   75 me s 125 Me yoe W c eW   
oe re fpe S ~ 

  Question Nos. 12 to 16 are of 4 marks each. 

Answer each in about 75 to 125 words. 

 (v) ØeMve  mebKÙee  17 me s 19 le k e â ke s â Øe Mve  8 De b ke âesb  ke s â nQ~           
Ø e lÙe ske â  Ø e Mve  ke âe  G òej  ue i eYe ie  150 me s 200 Meyoe W c ebs        
oe re fpe S ~ 

  Question Nos. 17 to 19 are of 8 marks           

each. Answer each in about 150 to                   

200 words. 
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 (vi) De e " De b ke âeW Je e ue s me Yee r le ervee W Ø e Mvee W ce W De eb l ee fj ke â Ûe Ùe ve Øeoe ve  
e fkeâ Ùee  i e Ùe e  nw~ S sme s Øe Mvee W ce W me s De e he ke âe s ke s âJe ue  Skeâ ner Øe Mv e 
k e â j ve e  nw~ 

  Internal choice has been provided in all three 

questions of eight marks each. You have to 

attempt only one of the given choice. 

 (vii) G òe j  meb e f#e hle  De ewj  Øe Mve  ke s â  De ve gke t âue  ne sve s Ûee efnS ~ 

  Answers should be precise and to the point. 

  1. (i) meved 2001 keâer peveieCeveevegmeej osMe ceW ‘efJekeâueebie’ JÙeefkeäleÙeeW keâer 
mebKÙee keäÙee Leer ? 1 

  What was the population of 'Disabled' in 

the country according to 2001 census ?     

 (ii) meved 2001  keâer peveieCevee kesâ Devegmeej Yeejle ceW ‘pevepeeleerÙe’ 
ueesie Les :   1 

  (a) 8.4 keâjesÌ[ 

  (b) 7.4 keâjesÌ[ 

  (c) 8.2 keâjesÌ[ 

  (d) 6.8 keâjesÌ[ 
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  According to 2001 census the number of 

'Tribal' people in India were :  

  (a) 8.4 Crore  

  (b) 7.4 Crore 

  (c) 8.2 Crore 

  (d) 6.8 Crore 

 

 (iii) ‘keâcÙegveue’ Meyo keâe keäÙee DeLe& nw ?  1 

  What is meaning of 'Communal' ? 

 (iv) PeejKeC[ keâes Deueie jepÙe keâe opee& efceuee : 1 

  (a) 1999  ceW 

  (b) 2001 ceW  

  (c) 2002 ceW 

  (d) FveceW mes keâesF& veneR 
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  Jharkhand got the status of separate state 

in :  

  (a) 1999 

  (b) 2001 

  (c) 2002 

  (d) None of these 

 (v) efvecveefueefKele ceW mes Meefkeäle mechevve nesves keâe cenòJehetCe&               
meeOeve nw  :   1 

  (a) mee#ejlee 

  (b) jepeveerefle  

  (c) DeeefLe&keâ 

  (d) meeceeefpekeâlee 

  The important mean of becoming powerful 

among following is :  

  (a) Literacy  

  (b) Politics 

  (c) Economically  

  (d) Socially 
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 (vi) ‘ceneosJe ieesefJevo jevee[s’ efkeâme Deevoesueve kesâ efueÙes peeves peeles                
nQ ?    1 

  For what movement (Agitation) 'Mahadev 

Govind Ranade' is known ?   

 (vii) Yeejle kesâ ueesie kegâue efceueekeâj ‘Yee<eeÙeW’ yeesueles nQ : 1 

  (a) 1532 

  (b) 1632 

  (c) 2032 

  (d) 1600 

  The people of India comprehensively speak 

how much 'languages' ?  

  (a) 1532 

  (b) 1632 

  (c) 2032 

  (d) 1600 
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 (viii)  YeejleerÙe ‘mebefJeOeeve’ kesâ ØecegKe efMeuhekeâej kesâ ™he cesb efkeâvnbs peevee 
peelee nw ?   1 

  Who is known as architect of Indian 

'Constitution' ?  

 (ix)  keâeue& ceekeäme& keâes cegKÙe ™he mes DeeueesÛekeâ ceevee peelee nw : 1 

  (a) meecÙeJeeo keâe 

  (b) hetBpeerJeeo keâe 

  (c) mecØeoeÙeJeeo keâe 

  (d) Fve meYeer keâe 

  Karl Marx is mainly known as Critic           

for :    

  (a) Communism  

  (b) Capitalism  

  (c) Communalism   

  (d) All of these 

 (x) ‘DevÙeLee me#ece’ JÙeefkeäle kesâ efueS ØeÙegkeäle efkeâvneR oes efJeMes<eCeeW kesâ 

veece efueefKeS~   1 

  Write any two adjectives used for  

'Disabled' ?  
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 (xi) efvecve cebs mes mener  keâLeve keâes efueefKeS : 1 

  (a) peeefle pevce hej DeeOeeefjle nw  

  (b) peeefle keâes yeouee pee mekeâlee nw 

  (c) peeleerÙe efveÙeceeW ceW keâ"esjlee veneR heeF& peeleer   

  (d) peeefle mes efve<keâeefmele Yeer efkeâÙee pee mekeâlee nw 

  Write the correct statement :  

  (a) Caste is based on birth   

  (b) Caste can be changed  

  (c) There is no rigidity in casteism  

  (d) Expulsion can be done in casteism  

 (xii) ‘ØeÙeespevee’ keäÙee nw ?   1 

  What is 'Project work' ?  

 (xiii) Skeâ Oeeefce&keâ mecegoeÙe keâe otmejs Oeeefce&keâ mecegoeÙe kesâ Øeefle efJeÉs<e 
keânueelee nw :   1 

  (a) Oece&efvejhes#eJeeo 

  (b) peeefleJeeo 

  (c) #es$eJeeo  

  (d) meecØeoeefÙekeâlee 
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  The hatered of one sect towards another 

sect is known as :  

  (a) Secularism  

  (b) Casteism  

  (c) Regionalism  

  (d) Communalism  

 (xiv) mecegoeÙe pees meecetefnkeâlee keâe efvecee&Ce keâjles nQ, keânueeles nQ :  

         (DeuhemebKÙekeâ DeLeJee yengmebKÙekeâ) 1 

  Community which create a sense of 

collectivity known as : (Minority or Majority) 

 (xv) ‘heefjÙeespevee’ keâeÙe& kesâ efueS ………….. heæefle keâe DevegmejCe 
efkeâÙee peelee nw~   1 

  In 'Project' work ………….. method is 

followed.  

 (xvi) Jeelee&ueehe Éeje metÛeveeÙeW Skeâ$e keâjvee …………..  keânueelee 
nw~    1 

  The collection of informations by 

conversation is known as ………….. .   
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  2. ‘GoejerkeâjCe’ keäÙee nw ? 2 

 What is 'Liberalization' ? 

 

  3. ‘meòeeJeeoer’ jepe efkeâmes keânles nQ ? 2 

 What is 'Authoritarianism' ?  

  4. ‘je°’̂ Meyo keâe DeLe& yeleeFÙes~ 2 

 Give meaning of 'Nation'. 

  5. ‘efMeMeg ce=lÙegoj’ keäÙee nw ? 2 

 What is 'Infant Mortality Rate' ?  

  6. ‘hejmebmke=âefle«enCe’ keäÙee nw ? 2 

 What is 'Acculturation' ?  

  7. ‘heæefle’ keäÙee nw ?   2 

 What is 'Method' ? 

  8. ‘ØeÙeespevee’ keâeÙe& kesâ keâesF& oes  oes<e yeleeFÙes~  2 

 Give two demerits of 'Project Work'.  



 ( 12 ) 2917/ (Set : A) 

2917/ (Set : A) 

  9. ‘mee#eelkeâej’ keäÙee nw ? 2 

 What is 'Interview' ? 

10. oes  meeceeefpekeâ ØeefJeefOeÙeeW/heæefleÙeeW kesâ veece efueefKeS~ 2 

 Give names of two 'Social Methods'.  

11. Deehekesâ ‘jepÙe’ keâe GodYeJe keâye ngDee ? yeleeFÙes efkeâ keäÙee Deehekesâ jepÙe ceW 
‘DeeefoJeemeer’ efveJeeme keâjles nwb ? 2 

 When did your 'state' come into existence ?          

Tell whether 'Aadivasi people' live in your            

state ?  

12. De#ecelee keâer efJeMes<eleeÙeW/ue#eCe yeleeFÙes~ 4 

 Describe the symptoms of 'Disability'.   

13. ‘Yetceb[ueerkeâjCe’ keâer meneÙekeâ Øeef›eâÙee DeLeJee henuet keâewve-keâewve                   
mes nQ ?  4 

 What are the trends in "Globalization" ?  
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14. ‘je°êrÙe pevemebKÙee veerefle’ keâes meb#eshe ceW yeleeFÙes~ 4 

 Explain in brief the 'National Population            

Policy'.  

15. yeÌ{les ‘mebÛeej ceeOÙeceeW’ keâer Yetefcekeâe keäÙee nw ? 4 

 What is the role of increasing 'Mass 

Media/Communication' ? 

16. Yeejle keâer ‘pevemeebefKÙekeâerÙe’ GheueefyOeÙeeB yeleeFÙes~ 4 

 What are India's 'Demographic'  achievements ? 

17. ‘peeefle JÙeJemLee’ keâer efJeMes<eleeÙeW efueefKeS~ 8 

 Explain the merits of 'Caste System'.  

DeLeJee 

OR 

 DeeefLe&keâ heefjJele&veeW ceW ‘YetceC[ueerkeâjCe’ keâer Yetefcekeâe yeleeFÙes~ 

 Explain the role of 'Globalization' in economic 

changes.  
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18. efm$eÙeeW keâer ‘meceevelee’ Deewj ‘DeefOekeâejeW’ kesâ efueÙes efkeâÙes ieÙes mebIe<eeX keâe 
GuuesKe keâerefpeS~   8 

 Explain the struggles made for bringing 

'Equality' and 'Rights' for women.   

 

DeLeJee 

OR 

 

 Gve efmeæevleeW keâer JÙeeKÙee keâjW pees ‘meeceeefpekeâ mlejerkeâjCe’ keâer JÙeeKÙee 
keâjles nQ~ 

 Elaborate the principles which explain 'Social 

stratification'.   

19. ceeuLeme kesâ ‘pevemebKÙee Je=efæ’ efmeæevle leLee ‘pevemebKÙee meb›eâceCe’ 
efmeæevle hej efveyevOe efueefKeS~   8 

 Write an essay on the Malthusian theory of 

'Population Growth' and the theory of 

'Demographic transition'.  
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DeLeJee 

OR 

 Yeejle ceW efiejles ngS ‘m$eer-heg®<e’ Devegheele hej Deheveer efšhheCeer/efÛevleve 
keâjW~  

 Comment on the declining 'Sex' ratio in India.  

    

    

SSSS  

 


